A A IR E B ERER (FR25F10A15H~19HHHE)

WatHRE (1 Sv/h)

NO | HHES REERSA 7 XigfE
cm 50cm 1.0m
1 A—4 HEAI#AO 0.60 0.58 0.57 BEh
2l B—3 |[#AMKIEE 0.55 0.46 0.42 ED)
3] B—4 [E/pifEfHE 0.82 0.37 0.29 ED)
4 B-—5 [HHFLARE 0.41 0.39 0.38 ED)
5 B—5 [AthdhANAEREE 0.37 0.40 0.34 £l
6] B—5 |&IRGEEA) A 0.31 0.19 0.18 ED)
7| B—5 |KROEF) ik 0.17 0.18 0.17 £Y
8 B—5 |FERIER 0.61 0.45 0.34 =)
9] B—6 [THHALAERME 0.44 0.40 0.34 BEh
100 B—6 [THJIfHE 0.25 0.22 0.17 B
11 B—6 [FEERESEREO (FO) A 0.12 0.14 0.11 m(1$0)2%)
12| B—6 EJJ?(IEI#%?)H 0.44 0.34 0.33 D)
13] B—6 [hLgiftik 0.60 0.49 0.36 BEih
14| B—6 |FHABHME 0.53 0.38 0.34 BEh
15| B—6_|[B/IRAREEH] 0.68 0.51 0.40 £
16] B—6 [KIRELEFHE 0.57 0.27 0.22 ED)
17 B—7 [|/NAEFHIR(UERTENE ) 0.47 0.39 0.31 BEh
18 Cc—3 [|FARMREAO 0.39 0.37 0.34 Bh
19] Cc—3 [#/Af=HithAOfHE 0.18 0.25 0.29 Bh
200 C—4 |#BOLMKA 0.61 0.40 0.34 £
21 C—4 [FHEX(BFHFMAEIE i) 0.41 0.26 0.23 Bh
22l C—4 [PXESE 0.57 0.35 0.31 =l
23] C—4 |FXTI—2E29o (BB (1) 0.27 0.23 0.22 £
24| C—5 [BEENERfE 0.50 0.35 0.30 =l
25| C—5 |ALEH#FHE 0.54 0.42 0.39 £l
6] C—5 |X&1&F 1.79 1.33 0.95 £
271 C—5 [TrEAEH#NA 0.98 0.48 0.39 =l
28] C—6_ |52oFELE 0.38 0.34 0.33 BEh
29 C—6 | EHANEEER 0.36 0.33 0.32 BEh
300 C—6 [HBlIIZXH#hADO 1.22 0.78 0.50 BEh
31 C—6 MBI EMihEKithEFEEm 0.80 0.50 0.40 =l
32l Cc—6 [LATULAEBER 0.55 0.38 0.35 Bh
33)] C—6 [#EAF{HA 0.39 0.34 0.28 BEh
34| C—6 |FEEFREEEIHIZHTH 0.52 0.42 0.38 BEh
35| C—6 |IUTREENE FI—(EAH) 0.18 0.21 0.15 BEh
36| C—6 |IUTHEISERAEE 0.40 0.43 0.37 Bh
371 Cc—7 [/I\{AUNNAVED 0.58 0.44 0.39 BEh
38] C—7 | KEXEEG) 0.70 0.53 0.44 Bh
39 c—7 [IAEREER 0.46 0.33 0.23 Bh
40] C—7 |[{EMFEERIEFTIRZEH 0.39 0.42 0.32 BEh
41 C—7 |EBEEREMATE 0.60 0.54 0.48 BEn
42| Cc—7 |hUBEEMHE 0.67 0.57 0.48 BEh
43| C—7 |RchEHh (BiE15) 0.40 0.39 0.36 Bh
4 C—7 | KEHKIFrfhE 0.73 0.46 0.38 BEh
45| C—8 |[BEBRGhFE) 0.48 0.44 0.44 BEh
46| D—2 |JU—ryyRCCAO 0.49 0.60 0.61 BEh
47 D—3 [PAXFE®E 1.65 0.95 0.77 Bh
48] D—3 TR 0.41 0.45 0.37 Bh
49| D—4 |SBh(ERDfhA 0.48 0.37 0.28 Bh
500 D—4 |EAE;Z/ AR 0.32 0.32 0.30 BEh
51 D—4 |[EPANEEE 0.20 0.23 0.23 BEh
520 D—5 |[FhEEERHE 0.62 0.32 0.28 BEh
53] D—5 |BEE/IER (EEEIEAD) 0.51 0.33 0.26 £l
54| D—5 [BEX/NEREER 0.96 0.58 0.42 BEh
55| D—5 |IHEMZ2AREEHI 0.56 0.48 0.43 BEh
56| D—5 |BEmBAQOfHR 0.36 0.39 0.33 Bh
5711 D—6_ |(fARYILI SR 0.12 0.11 0.15 BEh
58/ D—6 |HFH—TU2E 0.20 0.18 0.16 BEih
5] D—6 |FiFOE#RE 0.37 0.32 0.26 BEh
60l D—6 |AXsA+FE 0.53 0.41 0.29 BEh
61 D—6 |HhEEISGEHEithNA 0.71 0.57 0.41 Bh
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NO | HEES BEEL —MEIRE LG b KR4
cm 50cm 1.0m
62| D—6 |FHEHEFBIS 0.48 0.47 0.42 B
63] D—6 |EHW=—a—437  (E) 0.32 0.28 0.30 Bh
64f D—7 |EFHEAREFA 0.43 0.32 0.33 Bh
65] D—7 |LEEERBRZI VIS 0.18 0.19 0.17 Bh
66/ D—7 [/NAEEH#R 0.45 0.57 0.48 B
67] D—7 |2)I|Hhis 0.63 0.43 0.38 Bh
68| D—7 |ERULEEX400mAEftia 0.30 0.32 0.28 Bh
69| D—7 |FEHEERAO 0.60 0.46 0.35 Bh
700 D—7 [EEBEEAE 0.43 0.31 0.30 Bh
71 D—7 |VIAAERTE R A 0.38 0.39 0.37 BEh
72l D—8 |FEIIFEHIR) 0.23 0.25 0.23 Bh
73 E—2 |WFEME 0.71 0.49 0.41 BEh
74| E—2 |EAFHFB 0.98 0.41 0.33 BEh
75 E—3 |B/EDiiga 0.43 0.41 0.37 BEh
76| E—4 |[BEAREEH 0.13 0.12 0.12 msi;sum%)
77 E—4 |IHER/[R/NREERD 0.56 0.43 0.37 BEh
78 E—5 |FRIRALfFHE 0.27 0.29 0.29 BEih
79 E—5 |&8ERAIHE 0.37 0.29 0.27 BEh
80| E—6 [—0OX#H 0.67 0.46 0.39 BEh
81 E—6 | EEFER=FERmTE 0.61 0.44 0.42 BEh
82| E—6 [/NEAEHISAMA 0.90 0.66 0.51 BEh
83] E—6_ | KBOEYISUF 0.57 0.54 0.46 BEh
84| E—6 |EEGEHSRAOD) 0.76 0.57 0.52 BEh
85 E—7 |FRIRERESEM R 2.42 0.96 0.62 BEh
86| E—7 |EHEIMSRAIEEAI 0.63 0.51 0.43 BEh
87 E—7 |ERAREER 0.50 0.35 0.31 BEh
88 E—7 |ERARERHFRME 0.19 0.21 0.20 BEh
89| F—4 [fF/itfhE 0.53 0.44 0.39 Bh
90 F—4 |HREMREEL I—EIHIGH 0.56 0.37 0.35 BEh
91 F—4 |AESZABUtE2—d] 0.44 0.34 0.30 Bh
92 F—5 [BAMA#A(R289H/5500m% LKE) 0.50 0.31 0.26 =N
93 F—5 |ZERARER 0.56 0.45 0.34 IR
94 F—5 |®Bt A2—ZEAiI 0.96 0.49 0.40 IR
95 F—5 |ZIEPGHRBIEYA/0h 0.29 0.30 0.30 IR
%6 F—6 |&LEEKHADO 0.41 0.40 0.34 N
97 F—6  |FIEHISET FIR 0.58 0.43 0.33 IR
98| F—6 |EBIRN\REH{TE 0.21 0.30 0.38 N
99| G—1 LTEZF (@ -XEXIE) 0.27 0.23 0.21 BEh
100 G—3 |FAEA LEIEHIG 0.27 0.23 0.22 Bh
101 G—4 |EFEKGRERGEISI{TIR) 0.34 0.34 0.28 BEh
102] G—4 |ZEIEhE 0.44 0.33 0.22 Bh
103] G—5 [HREXAHCCEI&EHIF{ti 0.31 0.26 0.23 N
104] G—5 [BEIFLEEERR{TRE 0.52 0.45 0.36 =NED
105 G—6 | XEBHEHEEHR 0.16 0.18 0.16 N
106] G—6 [BEHFTFE 0.32 0.28 0.28 IR
107] H—3 [BH4~EHhis 0.20 0.19 0.18 Bh
108] H—4 |EECAIELEE 0.20 0.18 0.18 Bh
109] H-—5 Eﬂ’n%ﬁﬂ%ffﬁﬁ CHAIEFN) 0.32 0.27 0.24 =NED
110l H—6 [KERIEH#DEHE 0.24 0.23 0.21 N
111 1—3 Faoo & GE) 0.30 0.25 0.23 =)
112 1—4 BFERICYHRTILAOME 0.22 0.18 0.16 ED)
113 1—4 BADER (1) 0.13 0.11 0.11 =¥E
114 1—4 HRORX v JHAO 0.33 0.29 0.21 =¥E
115 1—4 A ELERRH L AR R A5 m CKE S ) 0.17 0.14 0.15 =NED
116 J—5 |FELEIHEIF 0.08 0.10 0.09 =¥E
117 K—3 HEhR)LAOETES 0.14 0.15 0.12 =)
118 K—3 B IWIIUTE — - 0.04] BN (5/17)
119] K—3 [BEHAE4hA - - 0.09| BEh(8/25)
1200 K—8 [REEEEHMA 0.15 0.18 0.15 =
121 K—4 M;’% - - 0.17 E%"L(7/275ﬂ“i)
122 K—4 Z'[\E;’% 0.07 E%"L (7/277&“%)
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